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Foundation Tier  

Exemplar 1 – Question 1 

 

Marks 

Communication and content - 5 marks 

Linguistic knowledge and accuracy - 5 marks 

 

Commentary  

 

 

 

This response is fully relevant and fulfils both requirements of the task giving extra 

detail. It uses language to give information and opinions with some success and goes 

beyond basic and simple language using some very advanced phrases. There are however 

some basic mistakes such as verb formation; using infinitives instead of conjugations and 

missing words such as ‘elles travailleuse’. 

 

The candidate goes beyond the word limit and so makes more mistakes and he or she 

would have possibly done otherwise by adhering to the requirement and therefore having 

time to check more thoroughly for basic mistakes. This task does not require more 

advanced language, but rather evidence of an aptitude to write basic simple sentences as 

accurately as possible. It is therefore important that the candidate understands the 

brief, so as to fulfil it as successfully as possible. 
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Foundation Tier  

Exemplar 1 – Question 2 

 

Marks 

Communication and content - 7 marks 

Linguistic knowledge and accuracy - 7 marks 

 

Commentary  

 

 

This response addresses all the bullet points with development. The irrelevant material at 

the end does not detract from the fulfilment of the bullet points. The language is mostly 

successful and there is some independently selected vocabulary. The inclusion of more 

advanced structures is positive and there is linking. It is mostly accurate with some dips 

such as the use of the imperfect in referring to the future event.  

 

The candidate may have scored higher by concentrating on making sure the basic tenses 

and vocabulary were accurate and by not steering away from the brief thereby spending 

more time on the four bullet points.  
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Foundation Tier  

Exemplar 1 – Question 3b 

 

Marks 

Communication and content - 9 marks 

Linguistic knowledge and accuracy - 6 marks 

 

Commentary  

 

  

The candidate has addressed all the bullet points with the third one being alluded to 

twice, but it is clear that it is fulfilled. The points are developed with some individual 

thoughts about Australia. The language is mostly effective with some creative and 

uncommon language as well as some variety of grammatical structures. The language is 

generally accurate with tenses frequently successful.  

 

The candidate may have gained a higher mark had s/he alluded only once to the third 

bullet point and focussed on checking basic tenses, thereby tightening up accuracy and 

making the use of language more consistently effective. 
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Foundation Tier  

Exemplar 1 – Question 4 

Marks 

1, 1, 1, 2, 1 marks 

 

Commentary  

(a) the candidate communicates partial meaning. 

 

(b) the candidate is credited for a clear attempt to give the French spelling for ‘I prefer’. 

 

(c) the candidate has partially communicated the sentence 

 

(d) the candidate has partially communicated the sentence and has clearly misread friends 

for ‘parents’.  

 

(e) a good attempt at this, but only the last part is communicated properly. 

 

The candidate may have scored higher marks had s\he read the sentence to be translated 

a little closer as in (a) where ‘it is’ has been translated as ‘il y a’ or (d) as indicated.  

Elsewhere a wider knowledge of vocabulary may have helped, such as in (a) today and more 

precision as in (e) where ‘il y avait pleut’ has been used instead of ‘il pleuvait’. 

 

THE FINAL MARK FOR EXEMPLAR 1 IS 45. 
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Foundation Tier  

Exemplar 2 – Question 1 

 

Marks 

Communication and content - 6 marks 

Linguistic knowledge and accuracy - 5 marks 

 

Commentary  

 

 

This candidate has responded to both tasks competently giving relevant information and 

good development. The language is mostly accurate. 

 

The candidate may have scored full marks had s/he checked his/her spelling more 

effectively. 
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Foundation Tier  

Exemplar 2 – Question 2 

 

Marks 

Communication and content - 6 marks 

Linguistic knowledge and accuracy - 5 marks 

 

Commentary  

 

 

This candidate seems to have fulfilled all bullet points; the benefit of the doubt has been 

given for the reference to a music event being great as a response to the second bullet 

point and the last bullet point, as the language is a little muddled, but is just about 

understandable thereby conveying the meaning. There is also a little development. The 

language used just about conveys the points at this level, and there is minimal linking… 

 

The candidate may have scored a higher mark had s/he made it clear which bullet point 

s/he was addressing by dividing the piece into clear paragraphs and checking tenses very 

carefully as well as some lexical items such as using the adjective instead of the name of 

the country (eg: French instead of France). 
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Foundation Tier  

Exemplar – Question 3a 

 

Marks 

Communication and content - 9 marks 

Linguistic knowledge and accuracy - 6 marks 

 

Commentary  

 

 

This candidate has fulfilled all the bullet points with development of some key points. The 

last bullet point however is not interpreted properly, so the candidate has given 

information on what s/he intends doing with his/her friends rather than how s/he intends 

to keep in touch/keep them. The language is mostly effective and there is linking and 

some successful reference to past, present and future events. 

The candidate would have scored higher had s/he spent less time on elaborating on the 

first bullet point and more time on the last two, especially breaking down the language in 

the last bullet point to really understand what it is asking by process of elimination i.e. 

there is no indication that it is asking about specific activities in the future.  



 

 10 

Foundation Tier  

Exemplar 2 – Question 4 

 

Marks 

1, 1, 1, 3, 1 marks 

 

Commentary  

(a) the candidate has partially conveyed the meaning. 

 

(b) the candidate has made an attempt at a French spelling of the verb, so partial meaning 

is conveyed. 

 

(c) partial meaning is conveyed. 

 

(d) the meaning of the sentence is fully communicated despite ‘mon’ before parents. 

 

(e) single words are communicated 

 

The candidate would have scored higher if s/he had been more accurate eg in sentence (c) 

and also read the English more closely as in (a), where s/he gives the word for now instead 

of today. 

 

THE FINAL MARK FOR EXEMPLAR 2 IS 44. 
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Foundation Tier  

Exemplar 3 – Question 1 

 

Marks 

Communication and content - 6 marks 

Linguistic knowledge and accuracy - 6 marks 

 

Commentary  

 

 

This response is an excellent example of one where the candidate has adhered to the 

word count and also fulfilled the 2 tasks of describing the photo and giving an opinion on 

school. Relevant information is given with some extra detail and the language is successful 

with some linking.  
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Foundation Tier  

Exemplar 3 – Question 2 

 

Marks 

Communication and content - 4 marks 

Linguistic knowledge and accuracy - 5 marks 

 
Commentary 

 

This candidate has fulfilled the first two bullet points, but unfortunately has crossed out 

the response to the third bullet point even though what is written is not very clear. The 

fourth bullet point seems to have been misunderstood. The language however has been 

credited for the irrelevant material and so is higher than the communication mark. 

Straightforward simple sentences with some linking are used and there is some accuracy 

in the present tense. 

 

The candidate has clearly misunderstood the last bullet point and so may have benefitted 

from breaking it down in order to focus on which elements were being asked for. S/he has 

adhered to the word count (48 words), but in so doing, has crossed out a relevant 

response for bullet point three. It is worth reminding candidates that, whilst it is 

advisable to adhere to the word limit, if they go over a little in order to fulfil the bullet 

points, it is not a problem. 
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Foundation Tier  

Exemplar 3 – Question 3a 

 

Marks 

Communication and content - 6 marks 

Linguistic knowledge and accuracy - 4 marks 

 

Commentary  

 

This candidate has referred to all the bullet points and has developed them within the 

word limit, but has misunderstood the last bullet point and therefore just written about 

future plans with friends. Although s/he writes more about the importance of his/her 

friend, it is acceptable as a response. There is some effective language and mainly 

straightforward ideas are expressed. Some of the language is accurate including tenses, 

but some misspelt words such as ‘lisagne’ and ‘savant’ as well as the intrusion of English 

‘jokes’ lead to meaning not being conveyed. 

 

The candidate clearly found the meaning of ‘garder’ tricky, which led him/her to give an 

answer which didn’t fulfil the bullet point. As broad a vocabulary as possible is helpful in 

deciphering the bullet points as well as an attempt at working out by process of 

elimination what the bullet point may not mean ie; breaking down the prompt into question 

word, time frame etc. By doing this, the candidate may see that there neither the verb 

‘aller’ nor ‘faire’ is used, which would lead to a response about where one is going to 

go/what one is going to do with friends.  
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Foundation Tier  

Exemplar 3 – Question 4 

 

Marks 

0, 1, 1, 3, 1 marks 

 

Commentary  

(a) The candidate has not translated any of the material. 

(b) The candidate is credited for having attempted to translate ‘I prefer’ 

(c) The meaning of the last part of the sentence is conveyed. 

(d) The meaning of the sentence is fully communicated despite the singular possessive 

pronoun; the plural of parents has been conveyed.  

(e) Some words have been communicated, but not the overall sentence. 

 

The candidate needed to read the sentences very carefully, for example sentence (a) and 

‘always’ in (c) in order to make sure at least some of the sentence is conveyed 

appropriately. Also s/he should make sure all elements of the sentence are conveyed if 

known such as ‘look’ in (c).  

 

THE FINAL MARK FOR EXEMPLAR 3 IS 37. 
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Foundation Tier  

Exemplar 4 – Question 1 

 

Marks 

Communication and content - 4 marks 

Linguistic knowledge and accuracy - 4 marks 

 

Commentary  

 

 

This response uses language to give relevant information with extra detail with variable 

success. The last two justifications for liking school are not relevant, but do not detract 

from the communication, as the candidate has given an expression of liking to fulfil the 

second part of the task. The candidate links the phrases and uses a wide variety of 

language, but the accuracy is inconsistent and therefore hinder clarity of communication.  

 

The candidate far exceeds the word limit and so could possibly have scored higher by not 

writing so many words and instead using the time to check that what was written was as 

accurate as possible. 
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Foundation Tier  

Exemplar 4 – Question 2 

 

Marks 

Communication and content - 7 marks 

Linguistic knowledge and accuracy - 6 marks 

 

Commentary  

 

 

The candidate has fulfilled all the bullet points and developed them. The language used is 

varied and has some linking with some correct present tense verbs, but errors in the 

future tense and some misspelling of vocabulary prevent meaning being conveyed. 

 

The word count is almost double that required with some irrelevancies such as the sort of 

music the candidate prefers. By adhering to the word limit and the four bullet points, the 

candidate would have more time to check and eliminate mistakes, which cause confusion. 
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Foundation Tier  

Exemplar 4 – Question 3a 

 

Marks 

Communication and content - 5 marks 

Linguistic knowledge and accuracy - 2 marks 

 

Commentary  

 

  

The candidate fulfils the first three bullet points and develops them. Mostly 

straightforward thoughts and ideas are expressed. The last bullet point however is 

misinterpreted as future plans with friends. There are also moments of confusion such as 

‘je voudrais vous parle ton mes ami’, ‘je s’amuse avec elle’, ‘le week-end dejerner’, ‘ le pac’ 

and ‘nous nations’. Some effective adaptation of language but the accuracy is variable 

especially with tenses. As a result, meaning is prevented from being communicated.   

 

The response is double the length required and so means that the candidate has probably 

not had time to check for communication and accuracy. Whilst the piece is not penalised 

for the irrelevancies, time spent on a longer piece can be better used to concentrate on 

communicating only the required bullet points and in more accurate French. 
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Foundation Tier  

Exemplar 4 – Question 4 

 

Marks 

1, 1, 1, 2, 2  marks 

 

Commentary  

(a) credit is given for the spelling of ‘aujourd’hui’, though misspelt, it is possible to decipher 

it and therefore it communicates the first part of the sentence. However, the last 

adjective is mistranslated. 

 

(b) credit is given to ‘preferer’, as it looks as though there has been an attempt at the 

French spelling of the verb, but the rest of the sentence is not communicated. 

 

(c) the last part of the sentence is communicated, but the rest is not and so 1 mark is 

awarded. 
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(d) whilst it is clear that the whole sentence is communicated, the spelling of ‘aves’ and ‘me’ 

hinder clarity. 

 

(e) the meaning of all parts of this sentence are partially communicated, but verbs are in 

the present tense and some of the expressions are ‘loose’. 

 

Breaking down the sentence into smaller chunks and identifying tenses, adjectives and 

prepositions for example may help to focus the candidate on what is being asked for and 

help more effective communication and accuracy. 

 

THE FINAL MARK FOR EXEMPLAR 4 IS 35. 
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Foundation Tier  

Exemplar 5 – Question 1 

 

Marks 

Communication and content - 5 marks 

Linguistic knowledge and accuracy - 4 marks 

 

Commentary  

 

 

This candidate has given relevant information to describe the photo with some extra 

detail using short sentences within the word limit. For the opinion, s/he has given a longer 

sentence with linking. The French has variable success. 

 

The candidate would have benefitted from checking his/her present tense verbs, so as to 

ensure a higher language mark. 
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Foundation Tier  

Exemplar 5 – Question 2 

 

Marks 

Communication and content - 6 marks 

Linguistic knowledge and accuracy - 6 marks 

 

Commentary  

 

 

This candidate has fulfilled all bullet points within the word limit, though the last one is 

misleading, as s/he has given a past time frame and then the past tense to give an opinion. 

There is also some development. Language is used with some success and there is some 

uncommon language for this level such as ‘anime’ and ‘ma reposer’. There is linking and 

some accuracy. 

 

The candidate has done well to adhere to the word limit and so, if s/he had had enough 

time due to the short nature of the response, it may have been worthwhile rereading  

what s/he had written quite forensically to make sure it made sense. Such phrases as ‘il y 

a trés danse’ and ‘hier…..c’etait tres amusant’. 
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Foundation Tier  

Exemplar 5 – Question 3b 

 

Marks 

Communication and content - 3 marks 

Linguistic knowledge and accuracy - 2 marks 

 

Commentary  

 

 

There is brief information conveyed on only the first bullet point but with development. 

S/he has responded to the second bullet point, but it is not very clear. The answer is 

limited, as there are half the number of required words, and therefore so is the language, 

which is varied in its accuracy.  

 

It is unclear whether the candidate had understood all the bullet points, but if s/he had, 

s/he would have scored higher marks if s/he had spent less time on developing bullet point 

one and addressed all the bullet points. 
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Foundation Tier  

Exemplar 5 – Question 4 

 

Marks 

1, 0, 0, 1, 1 marks 

 

Commentary  

(a) the candidate has partially communicated the sentence. 

 

(b) the candidate has given the English spelling of ‘prefer’ albeit with accents. 

 

(c) the candidate has not attempted this question so there is no rewardable material. 

 

(d) some words are communicated, but not the whole passage. 

 

(e) some words are communicated. 
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The candidate may have scored a couple of more marks had s/he attempted one or two 

words for (c), for example ‘je regarde’ and ‘sur mon portable’, as these were the two parts 

that most of the clearly less able candidates were able to convey. It may have helped this 

candidate to break the sentences down into smaller parts so as to make it more accessible 

and focus on the tenses etc. 

 

THE FINAL MARK FOR EXEMPLAR 5 IS 29. 

 

 

 

 

 

 

 

 

 

 

 

 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


